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1 Match the words from the reading with
their meaning,
a. famous 2
b. intelligent -

1 mind is unfocused
2 polite and easily
oved

The Comparative
3 Complete the text with the correct form

of the comparative.

Hercule Polval S)Mow e
(professionali'than Miss Marple. He is
also (2) Y AChers  (rich) than her

and he travels the world. Miss Marple’s
(3) Luisert __ (wise) than Poirat.

c. elementaryS 3 known byalotof  She's (4) _pecre —S(famous) than
people him, We don't really know If she's
d. pleasant 4 4 clever; smart (5) _=\der=  (old) than Poirot, but
e. absent-minded] 5 easy and not we do know that she is (6) rasyre
iatsieis ()3
= complicated (pleasant).
- The Superlative

4 Complete the text with the correct form
of the superlative.

Dr Watso

(loyal)Bérson to Sherlock Holmes.
Holl:eusﬁl_sat_he_(z_wmh_
(fam: etective In the world. He

is the (3) ——Hintelligent)

and the (4) masst——"(logical)
detective Watson knows. He's not the
(5) pleasant) person, but
Dr Watson doesn't mind and thinks that
Holmes [s the (6) . (wise)
detective in history, —
5 _
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The Past Simp;o 3‘

irregular verbs
1 Complete the text w

.Y

| Perry Mason is a famous fictional

‘ detective. Earle Stanley Gardner

(8)] lnadt (make) this character. He
| @ (write) more than 80
| Perry Mason novels. Perry Mason's task

B) 2% (be)to defend a client

| on trial for murder. In the end, Mason
always (4) 4_5;_" W3 (find) proof of
| their innocence. Gardner

(5) =5 (sell) 135 million
copies of his books in America alone, in

"tﬂll' lnd lmgu

o
t%wmmmm.&emn*\ :
s

l\ pns en]oy be reul
elp wrltt solvt’

Mahmoud Salem (1) LI OS5 >

bom in Alexandria in 1929. He

2) Llfioke ucefuland
entertaining works of literature for
children. One of his best detective
series was “The Five Adventurers”
which was about five heroes who

(3) Solvue mysteries. Many
Benerations of women and men who
(4) LLA_ this series as children
(5) poas them down to their
chilldren and grandchildren. Young
readers (6) € his stories
because there was no physical violence
in them. His detective series showed

values such as courage, justice and
cooperation. They (7) L&.\.p;x_ the
children to use their imagination and

think logically by analysing the events in
order to find clues for solving mysteries.

the year of his death, 1969.
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8 Write the adjectives In the correct co
34 short logical big thin professional Impartant intelligent wise
| hard p'fwﬂ' bad hﬂppy wide small  kind Boﬂd ala 5

BB, o s tumn,

Adjectives that form the comparative ...
ing - doubling [by d ing | by adding |irregular
Sy sddiog=e by ading r :z.l“ ] -yy .n'z"" . myon I‘ ¢on§pmﬁvcs
consonant | adding -fer |less ...

and adding
-or
. = s ol e MoYe leg
short ~ shorter |W/5&-1 1 ‘)‘Lr’ W l\‘\nm-\'\ e | Vonical bod-wiy <
hard “hardor [ wideowider [Pav=-Yainner YO Tie g, D09 -
0 ‘IJ'J A‘Q .5 I 0 By Y tnal ? L
S Al ain] Sod o e r:-.gro.l \es,
Umportont
T > prove | fout
l‘(\n..{ kw\'{u o lea tenl-

4 Complete the text with the correct form of the comparatives (more/less).

Sherlock Holmes was (1) more perceptive (perceptive) than Watson. That's why, Watson
was (2) J.L;;_S'_'&_'.:_ll (successful) than Holmes in his attempts at solving cases;
he was Q)L_.___ALLE ccalto ~— (attentive) to details than Holmes. As Holmes said,

:Vnnson saw but he did not observe. However, Watson was naturally i
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= TronE e adi - -
h -n,i‘uVulntMtomctglum!' p . g “
PRI, N, T e
ot logical ; -
boring  wise Ot pleasant well-known professional interesting
ﬂ"lm small Wd bad  wide
’—\

by adding by adding | that form the superfative ...
ek 'ﬁ:".lmﬂl dro Lok -y |adding lm;nlum‘ .
v X ?;.5’:}';"‘ f;:“ ng |the most... |superlat !
ing
~est
kind - kindest | Wise~ [ Wo oo
i sec)-

Wby | e most ond-

W : S\ "
Pva T Y7 Py ‘”‘!‘M- o 9eSY [\nappies) ]:‘l:\:u:o“ \,:‘i% |
wliden | Jigieal | urerst

5’:““” B [Tee woit | e Yo
C pleatenl |had

- ; : PAL molt

s r 235 Pras a

el PAsth

jatoyshon ™

FAe Mot
Soriad

v

6 Complete the text with the superlative form of the adjectives.
What were the characteristics of the (1) mast famous (famous) detective?
sherlock Holmes was the (2) o=t —* (intelligent) detective in the w
Watson was Holmes' (3) _ppesk ™ (loyal) friend. He considered Hol
be the (4) __Luar ot (bad) roommate in London because he was very
However. he didn't have Holmes' brain, which was the (5) MOSE —=

5f his time,'so his success was
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lu;:thmnoustomj"'pmmh A
‘Who / Sherlock Holmes’ (great) enemy? ‘S SRS

It / Professor Morlarty. He / the (bad)
?lm) in the stnrl:s so{ S'l'l:cvlko:'k |
mes. He (not like) She olmes
4 rlnd he (want) to stop hlsdctectlve
! W cople (si /
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him see at night?
get water
water in the well but
vk making the strange nolses?
_Mp=the following clues to tell the
police what has happened: plane,
cartridges, plastic bags, well.

3 What do you think happened to John
Kent? Could there be a way to escape?
B (5

The hunters crossed the lake. Sending
another flare into the sky, they saw a
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Lo on wriins S
3 Write th‘ese phm::: in the correct place
Punctuation: writing dates to complete the story. ;
« In British English, it Is usual to write the @Nhen she opened the door
date before the month: @ As soon as Max g:’vdg ':1;.: man his
» . mum’s
31* January 2011 or 31 January 2011 Q (I am NoLE later
« In American English, It is usual to write s they cycled back
the month before the date:
January 31" 2011 or January 31, 2011 @ pefore m;;ndchwk::
« We can write dates in different styles: { ew minutes after they knocked
arrived
31/01/11 = 31.01.11 or 1/31/11 = 1.31.11 (&) When they
1 Complete this table with the 5 hot day last summer, Nina
comesporkiing dates. (a:\)cl ‘Max saw Max's mother come in
looking very angry-

“Do you remember that old house over

20" June |1 June 20,|12 3 'y Norton Drive?” she said. "I put a FOR
1955 (1955 |<ookBlasll S sign up In the yard this morning,

and now It's gone.”

415" - |April 15, |5 /1 Max said to Nina, “Let’s solve this
Tonin Yf2b11 " [As.etdl e

775+ |8, ~ st |25.0510 |9 *An old lady lives in the house nextto
M _3.442‘_ S/a5110 the one for sale,” said his mother.

“ o 11 —_— 531712 " something,” Nina sald.

.| 10 11wm - tet's go and ashy

— W) : -——’;ﬂﬁ\‘ |
/f sawamaninatruchin fiodtofthe &
) f empty house. h ¥ R |

eard. [ “Is this the house ! sale? There aren’ A
hecorr any signs. | want to buy it!" The.
i sald.t"fl\y nephew48fit me his tre

12

see P
 Mymumis seu»';t." Max te
B —— ¥ '
irove off, i
Nitier ~4 s Widic s
\.' h-’.}-' RTERY “l
L =
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f na : (be) a very rich merchant. He Y
8)" ot (travel) to dl#qﬁnt places to sell goods. One dayghe'(a)._\gL
(lose) a bag full of money. He (4) (become) poor and (5) SNy
(sall) everything he had. In the meantime, a Sheikh (6) (find) the bag.
 Hel(?) (take) it and (8) ‘v (hide) it away. He (9) X
" (know) that he would return it one day. When the Shelkh met the merchant, he
owner,

_(10).%:;&_ (give) It back to him, and the lost bag was restored to its
[The)

Look at the information in the table. Write one compa
sentence for each adjective. (2 marks each)

Adjectives Sherlock Hereule Poirat
Holmes

a, young
b. old

c. pleasant

d. professional

e, logical

f. wise
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I'm having fun!

; ‘ » 1
m Omar: Khaled (5) |5 \2) hide
{ and seek with the Boys Hassan's

Al .AM"‘kh the words from ' father broke his leg when they
i pAteiids : the reading with ¥ ‘
th,‘r meaning, ne :é)ﬂycd | dg vt mu:: ‘!:;‘ -
o sit in the sun ] .li.h&-i\%-

: togettanned  The Present Continuous (negative)

“to move through . R ‘about what

wa;g'f using arms 3 g:?‘:::;'ﬁ':g,:fxy'nim.doln;
aneiveEs during thelr holidays.

3 to produce light a. Hassan / do scuba diving

a period of time s ¢

to rest or travel

5 a model of a b. Sami / ride t‘-bl!_(e_. .
castle made of
‘c. Hassan / play chess "

d. Hassan's father / do rock flshl :
Hmmkmsa-‘f—“sg\ﬁ o

. Khaled / rock climbing YSC)

oY) (_f“"’-“ (e
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I Hish, Words to ask questions about 5 Use these words to writea dialogue
‘I P ‘_:;'1'.': his family In his letter on using the Present Continuous.
rms. e answer them using short  Hakim: So, you / have / an adventure

| holiday or an eco holiday?
L H \ :
I Isham / h,ve 4 good time? a. 50, are you having.an.
“"“"—h‘MM.n.oMumz adventure holiday or an eco.

| 2 :ﬁ',., ad holiday X
" 'm and his Rafig: |/ have an adventure holiday X
i Sharm gi S Sthecayl aneco holiday /

»\‘\. X Slanlen awg ’ ‘L'. ' onw b‘wmmm

ey "f(uﬂim: What's the difference? you /

€ Hi

h : | i ; . 4 oY
Sham / swim? ‘ - visit exotic places or well-known
g e st cities?
Fatsal /sunb. clhats the 4iBrence 2Ave you
d. Faisal / sunbathe? ISk . ST k.\;'
IS—E‘MLQM'?— Rafig: An ag_venture holiday / visit SYFAES {

2 ik exotic places / well-known

‘€. Hisham' 5 cities X
:Shopp?:, ; ?mum and his sister / 5 Mmkumﬁnﬁiagm\“ ?J
 Are Hishamis mum andhic  ex
. Siste Hoo2INe 2 3 Hakim: But an eco holiday is also visitin
& v are exotic places, ¢ g
o Rafig: Yes, but not only that. | / taking
. the plane on this holiday x|/
only travel by train or by boat «
e, hoy A

A o

L o

h F; S t <
\aiday T aniW Rravellin
\3‘3\"?’\'\& o':‘\ ko:\\‘b
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Imagine you are Ibn Battuta,

notes Lo write three enties in

using the Present Continuous

(approne the walof AR T
proach) the well of . L2 : .

people (loak) at the water, but they (not

drink) a drop. We (follow) the example:

of the Prophet; he passed it on his

expedition to Tabuk and gave the order

not to drink its waters, We (not stop).

here. We (go on) to the village of

Al-Uli. 1t is half a day’s journey from

Al-Hijr.

— ‘".Ch(’. Tvmect o

leaving .
Our cara outski
holy city of Medina.
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